C?E}T:@tri

KekaoXing.com

000000 http://www.kekaoxing.com



http://www.kekaoxing.com
http://www.kekaoxing.com

21
22
23
24
25

31
32

33

41
42

43

44

321
322
323

331
332
333

421
422
423

431
432

HLP:rst-smp

000000 http://www.kekaoxing.com

1999/10/06


http://www.kekaoxing.com

(rdlidhility determination test)
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c d n
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n c n
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d r r
d dEc
dEc
Pr{d £ c} q( p I
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q g=0
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q
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L(a) = Pr{d £ clg= p} @
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2.3

N n ¢
1. |
I
(producer's risk) a 001 005 010
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2. |l
I
(consumer's risk) b 005 010 020
50 10% 20%
a b
a=0
B b=0 a
a b
a b

(1). a=005 b=010
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do
(ecoeptance rdidhility levd, ARL)
2 a3 do L(q)® 095 a£d L(q) <095
g3 do ( )
a=1- L(q) £005 (2)
qd<dp ( )
b=L(g) £095 (3)
095
Jo
Jo Jo
b a
do di do>0;
g2 do
93 go, L(a)%1-a @)
d=4do
L(go)=1- a 5
q£q; a;
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qf£q;, L(g)£b ©6)
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DOD-H-108  MIL-HDBK-781
MIL-STD-105
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a b
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L(I 0) =1-a (10)
LI )EL(1o)=1-a (11)
I 1 LFR(limiting falure rete) | 31,
L(14)=b (12
L(1)EL(l ) =b (13)
a b I 0 | 1 a
006 b 010 Iy |,
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HLP:rst-smp 8 1999/10/06

000000 http://www.kekaoxing.com



http://www.kekaoxing.com

o

b l
L(t1)=b (15

LFR ’

oC
[0,t] P{T <t} = /(1) [0t]
R(t) =1- Fr(t) n [0,t] r
=1} =R (0] [ROT™ (19
L(1') =Pr{r £}

-4 g%wr [RO" @)

n nlt
r=0 I (18)

f(c2;2c+2) 242 C2 @ (@ !
(0

HLP:rst-smp 9 1999/10/06

000000 http://www.kekaoxing.com



http://www.kekaoxing.com

3.2

3.21

0.

2.

3.2.2

r r
titEt, E-£1,,rEn

~ 10 u
g==iat +(n- )ty (19
Fii=1 ?;
~ _ nt,
== (20)
0
Q. 9°qc
@. a<qc
HLP:rst-smp 10 1999/10/06

000000 http://www.kekaoxing.com



http://www.kekaoxing.com

R i 2ra . 2ra. U

L(q) = P{a° g} = Prj == ey @
td q
2rg/q x c? c?
2 (2r) :—2:;% @)
g Q) 2
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a b do g3 g
L(do)=1- a 3
g3 do

L(q)® L(ao) =1- a (24)

d1 g£q;
L(az) =b (29
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. (26)
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n t
o] r
(1. rEc
(2. r>c
I
Fr(t)=1- exp(-1t)
1. ep® 10 27
BT
q=Y n [0t] r
nt/q
¢ (nt/a)" = nty
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(@)= Preca} = &= ewg < 3 -
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a b do a;

g0 e o
=0 I Qoo (30)
— X 2, 2
= Gy, F(c720+2)cc
=1-a

r=0 I 0192 (3D)

2T
PRt a)(2c+2)
0
(32
2T
— =cp(2c+2)
o]
T ¢ T=nt n
T n T
a b d 1
1
T ( )
a b d=do/0; | @
1 12.0% 9.9% 15 450 36 37
2 10.9% 21.4% 15 299 25 26
3 17.8% 22.1% 15 211 17 18
4 9.6% 10.6% 20 18.8 13 14
5 9.8% 20.9% 20 124 9 10
6 19.9% 21.0% 20 78 5 6
7 9.4% 9.9% 3.0 9.3 5 6
8 10.9% 21.3% 3.0 54 3 4
9 17.5% 19.7% 3.0 43 2 3
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a =b=10%
q, = 8,000hr
d=20
[ 1]
9o =d’ g; =20" 8,000=16,000hr

1 4
T=188" ¢, =188 8,000 = 150,400 hr

( ) ¢=13
r£i13
r>13
30
te t. = T/n=150400/300 = 5,013hr
0 5,013
3.3
n
r r=12,...,n r
T
(D). T3Ty
(2. TETg

Q). Tg <T<Tx

r+1
T¢ Te¢e T, Tp
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[T]
T(=ty +t,) [T.2]
n T=nt
T=nt [T4]
n n
3.3.2
n r
4
T=4at+(n-rt, (43)
i=1
2
(27/a) x (3)
J
T=nt, T=4at +(n-nt,
i=1
3.3.3
a b g q
T, le T-r
r=r,
T=T, 9
TA =9 + ho
Tg =sr- h (49)
B — 1
TC rC
( ) r=r. T=T;
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4
4.1
N Po
n
c
a b
Y Po P1 Po
(ecoeptance qudity levd, AQL)
P (imiting quelity, LQ) (ot tolerance
percent defect, LTPD) oc
L(po) =1- a
° (@)
L(py) =b
4.2
N p oc  Lp)
4.2.1
N p Np
D=Np n X=d
aboad - Do
P{X =d} = %ﬂédf’, =12,...,min(n, D) 47)
&ng
(N;n,c) oC
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L(p) =Pr{X £ ¢}

=P{X =+ P{X =t Pr(x = @
aDoadl - Do
¢ &dpén-dg
_dazlo oo
&no
4.2.2
N L(p) N n
oc  Lp)
_ _ S0 g (n-d)
Lip) =P X Ec = -p-(1-
(p)=Pr{x £d = & ¢ tp°(1- p) “9
4.2.3
n L(p) n p np
L(p) np=I oC L(p)
g1
L(p) = & —-exp(-1)
d=0™" (30)
= G f(c 2120+ 2)de?
f(c2;20+2) (2c+2) c¢?
(c+1) (2c+2) c¢?
2np
4.3
4.3.1
a b py P
oC L(p) n C
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Po a
L(po) =1- & (50)
n c AQL
P1 b
L(py)=b (52)
n c LQ
AQL
AQL
AQL
AQL
AQL
2
2
- ( )
- 1.
2. ( )
3.
4, ( )
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2.
3.
4.3.2
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1 TNy k
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20 30 p
Po=p (54
P1
P1 P1
P1 Po n
MIL-STD-106D P1
4.4
Po
1-a o] b
n
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a b py Py
(p®p9
P=Po 1-a p=p; b wad
b
A = <1
1 a (56)
B= 1:31—b >1 (57)
pa
—£A
R
p_(u:S B
pe
A<—<B
®. o
L, n
d(n) n-d(n)
L (1- py)
N d(n) n-d(n) (38
po®™ (1- po)
L, A
n
d(n) 1 n-d(n)
L_pl ('pl) £A (59)
n
P (1 po)™ 0
InA - nIn " P19
d(n) £ L (©0)
In p10
gpoﬂ gl Poo
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p10

Ingl
IZ)
W = Po (61)
aa PO
gpoﬂ 81 poﬂ
-InA
U=
0 ?ﬂ p10 ©)

gpoﬂ 81 poﬂ

d(n)=nW+U 63

d(n) = nwW+U

Ly = B 64
pod " (1' po)n )
d(n)nw +V (65)
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InB
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gpo 2 gl Po ﬂ
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